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1. Loan payable is a 

(A) Income   (B) Expenditure  

(C) Asset   (D) Liability 

öPõkUP£h ÷Ási¯ Phß J¸ 

(A) ÁμÁõS®   (B) ö\»ÁõS® 

(C) ö\õzuõS®   (D) ö£õÖ¨£õS® 

2. The difference between the assets and liabilities are said to be 

(A) Drawings    

(B) Capital  

(C) Income    

(D) Expenditure 

ö\õzxPÐ® ö£õÖ¨¦PÐUS©õÚ ÷ÁÖ£õk 

(A) Gk¨¦ BS®    

(B) •uÀ BS® 

(C) ÁμÄ BS®    

(D) ö\»Ä BS® 

3. Assets are recorded in the books in its purchase price. This concept is said to be 

(A) Dual aspect concept   

(B) Revenue realisation concept  

(C) Historical cost concept  

(D) Full disclosure concept 

HkPÎÀ ö\õzxUPøÍ AÁØøÓ Áõ[Q¯ Âø»°À £vÁx Guß Ai¨£øh°À 

(A) Cμmøhz ußø© P¸zx  

(B) Á¸Áõ´ wºÄU P¸zx 

(C) ¦μõuõÚ AhUP Âø»U P¸zx  

(D) •Ê öÁÎ±mkU P¸zx 
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Question 4 to 10: 

Some business transactions are given. Analyse these transactions and find the accounts 

involved in these transactions and mark 

ÂÚõ 4 •uÀ 10 Áøμ : 

]» Áõo£ |hÁiUøPPÒ öPõkUP¨£mkÒÍÚ. CøÁPøÍ B´Ä ö\´x öuõhº¦øh¯ C¸ 

PnUSPÎß ÁøPU÷PØ£ a, b, c, d I SÔ¨¤kP. 

4. Capital introduced by Mr. ‘X’ 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal  

(D) If one is real and the other is nominal 

v¸ X ÷£õmh •uÀ 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 

5. Credit sales to Mr. ‘A’ 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal 

(D) If one is real and the other is nominal  

v¸  A AÁºPÐUS Phß ÂØ£øÚ 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 



 

   008/DM/18 
  [Turn over 

5 

6. Drawing by Mr. ‘X’ 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal   

(D) If one is real and the other is nominal  

v¸ X AÁºPÎß Gk¨¦ 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 

7. Salary payable to Ram 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal   

(D) If one is real and the other is nominal  

v¸ μõ® AÁºPÐUS ÁÇ[P ÷Ási¯ Fv¯® 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 

8. ‘A’ refused to pay a part amount and hence it is treated as bad debts 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal   

(D) If one is real and the other is nominal   

A ¯õÀ ©ÖUP¨£mh £SvzöuõøP ÁμõPhÚõP P¸u¨£mhx 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 
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9. Amount payable by a customer is adjusted against another supplier on mutual Agreement 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal   

(D) If one is real and the other is nominal   

J¸ ÁõiUøP¯õÍ›h® C¸¢x Áμ÷Ási¯ öuõøP°øÚ HØÖ öPõÒÍ¨£mh J¨£¢uzvß£i 

÷ÁÖ J¸Á¸US uμ÷Ási¯ öuõøP°À \›ö\´¯¨£mhx. 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 

10. Cash purchase of furniture 

(A) If both accounts are personal accounts  

(B) If both accounts are real accounts  

(C) If one is personal and the other is nominal   

(D) If one is real and the other is nominal   

öμõUP öPõÒ•uÀ ö\´¯¨£mhx 

(A) C¸ PnUSPÐ® uß\õº PnUS    

(B) C¸ PnUSPÐ® ö\õzx PnUS 

(C) J¸ PnUS uß\õº PnUS ©ØöÓõßÖ ö£¯μÍÄ PnUS    

(D) J¸ PnUS ö\õzx PnUS AÀ»x uß\õº PnUS ©ØöÓõ¸ PnUS ö£¯μÍÄ PnUS 
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11. Accounting Equation is 

(A) Assets = Capital + Liabilities  

(B) Capital = Assets + Liabilities  

(C) Liabilities = Assets + Capital  

(D) Capital = Liabilities – Assets 

PnUQ¯À \©ß£õk Gß£x 

(A) ö\õzxUPÒ = •uÀ + ö£õÖ¨¦PÒ  

(B) •uÀ = ö\õzxUPÒ + ö£õÖ¨¦PÒ 

(C) ö£õÖ¨¦PÒ = ö\õzxUPÒ + •uÀ  

(D) •uÀ = ö£õÖ¨¦PÒ – ö\õzxUPÒ 

12. One of the Debit-Credit rule is 

(A) Debit the receiver, Credit the giver  

(B) Debit the giver, Credit the receiver  

(C) Debit the gain, Credit the loss  

(D) Debit the income, Credit the expenditure 

£ØÖ ÁμÄ Ai¨£øh ÂvPÎÀ JßÖ 

(A) ö£Ö£Áº PnUQÀ £ØÖ, u¸£Áº PnUQÀ ÁμÄ    

(B) u¸£Áº PnUQÀ £ØÖ, ö£Ö£Áº PnUQÀ ÁμÄ 

(C) »õ£ PnUS £ØÖ, CÇ¨¦ PnUS ÁμÄ    

(D) Á¸©õÚ PnUS £ØÖ ö\»Ä PnUS ÁμÄ 

13. Mention the account to be debited for a credit sale to Seenu 

(A) Cash account    

(B) Seenu’s account  

(C) Sales account    

(D) Creditor’s account  

^Ý AÁºPÐUS Phß ÂØ£øÚ ö\´uø©US £ØÖ øÁUP¨£h ÷Ási¯ PnUQøÚ SÔ¨¤kP 

(A) öμõUP PnUS    

(B) ^Ý PnUS 

(C) ÂØ£øÚ PnUS    

(D) Phß AÎz÷uõº PnUS 
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14. Mention the account to be credited for the cash purchase from Venkat 

(A) Venkat account   (B) Cash account  

(C) Purchase account  (D) Debtor’s account  

öÁ[Pm Gß£Á›h® öμõUPzvØS \μUS öPõÒ•uÀ ö\´uuØPõP ÁμÄ öPõkUP ÷Ási¯ 

PnUQøÚ SÔ¨¤kP 

(A) öÁ[Pm PnUS   (B) öμõUP PnUS 

(C) öPõÒ•uÀ PnUS  (D) PhÚõÎPÒ PnUS 

15. Left side of an account is said to be ––––––––––––– side, Right side is said to be 

––––––––––––– side. 

(A) Debit, Credit   (B) Credit, Debit  

(C) Asset, Liability   (D) Liability, Asset  

J¸ PnUQß Ch¨£Sv ––––––––––––– GÚÄ® Á»¨£Sv ––––––––––––– GÚÄ® 

AøÇUP¨£kQßÓÚ. 

(A) £ØÖ, ÁμÄ   (B) ÁμÄ, £ØÖ 

(C) ö\õzx, ö£õÖ¨¦   (D) ö£õÖ¨¦, ö\õzx 

16. Debit balance of a nominal account indicates 

(A) Income/Gain   (B) Expense/Loss  

(C) Liability   (D) Asset  

ö£¯μÍÄ PnUQøÚ £ØÖ C¸¨¦ SÔ¨£x 

(A) Á¸©õÚ®/Buõ¯®  (B) ö\»Ä/|mh® 

(C) ö£õÖ¨¦   (D) ö\õzx   

17. Balance of personal accounts and real accounts are shown in 

(A) Profit & Loss account  (B) Balance sheet  

(C) Both   (D) None  

BÒ\õº PnUSPÒ ©ØÖ® ö\õzx PnUSPÎß C¸¨¦ Põmh¨£kÁx 

(A) »õ£ |mh PnUS   (B) C¸¨¦ {ø» AÔUøP 

(C) Cμsk®   (D) GxÄ® CÀø»  
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18. ––––––––––––– purchases are entered in the purchase book. 

(A) Cash purchase of goods  

(B) Credit purchase of goods  

(C) Credit purchase of assets  

(D) All of the above  

öPõÒ•uÀ HmiÀ £vÄ ö\´¯¨£k® öPõÒ•uÀ ÁøP 

(A) ö£õ¸ÒPÎß öμõUP öPõÒ•uÀ  

(B) ö£õ¸ÒPÎß Phß öPõÒ•uÀ 

(C) ö\õzxUPhß öPõÒ•uÀ  

(D) ÷©÷» öPõkUP¨£mkÒÍ AøÚzx öPõÒ•uÀ  

19. The cash book with ––––––––––––– column is mostly used. 

(A) Single   (B) Double (Two)  

(C) Three   (D) Four  

AvP AÍÂÀ £¯ß£kzu¨£k® öμõUP HmiÀ ––––––––––––– {μÀPÒ EÒÍÚ. 

(A) JßÖ   (B) Cμsk 

(C) ‰ßÖ   (D) |õßS  

20. Choose the wrong statement 

(A) The cash column of the cash book is balanced and taken to trial balance 

(B) The bank column of the cash book is balanced and taken to trial balance  

(C) The discount column of the cash book is balanced and taken to trial balance  

(D) The contra entries made in the cash book need not be posted in any book  

uÁÓõÚøu ÷uºÄ ö\´P 

(A) öμõUP Hmiß öμõUP £zv C¸¨¦ Põmh¨£mk C¸¨£õ´ÄUS Gkzx ö\À»¨£kQÓx 

(B) öμõUP Hmiß Á[Q £zv C¸¨¦ Põmh¨£mk C¸¨£õ´ÄUS Gkzxa ö\À»¨£kQÓx 

(C) öμõUP Hmiß uÒÐ£i £zv C¸¨¦ Põmh¨£mk C¸¨£õ´ÄUS Gkzxa ö\À»¨£kQÓx 

(D) öμõUP Hmiß EÒÍ Gvº£vÄPøÍ ÷ÁÖ G¢u ÷£÷μmi¾® £v¯ ÷uøÁ°Àø»  
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21. Balance of cash column of the cashbook indicates 

(A) The net income    

(B) The difference of the debtors and creditors  

(C) The bank balance    

(D) The cash on hand  

öμõUP Hmiß öμõUP¨£v°ß C¸¨¦ SÔ¨¤kÁx 

(A) {Pμ Á¸©õÚ®    

(B) PhÚõÎPÐUS® Phß AÎz÷uõºUS® ÷ÁÖ£õk 

(C) Á[Q C¸¨¦ öμõUP®    

(D) øP°¸¨¦ öμõUP® 

22. Cash drawn from bank for office use will appear in the cash book in the 

(A) Debit side    

(B) Credit side  

(C) Both sides    

(D) No entry is required  

A¾Á»P ÷uøÁUPõP Á[Q°¼¸¢x £n® GkUS® ÷£õx AuøÚ öμõUP ¦zuPzvÀ £vÄ 

ö\´¯¨£k® £UP® 

(A) £ØÖ £UP®    

(B) ÁμÄ £UP® 

(C) C¸ £UP[PÎ¾®   

(D) £vÄ ö\´¯¨£kÁvÀø» 

23. If a cheque is dishonoured by the bank then the account to be debited is 

(A) Customer account   

(B) Supplier account  

(C) Bank account    

(D) No debit is required  

Á`¼US® ö£õ¸mk Á[Q°À ö\¾zu¨£mh Põ÷\õø» Á[Q°À AÁ©vUP¨£mhõÀ £ØÖ 

øÁUP¨£h ÷Ási¯ PnUS 

(A) ÁõiUøP¯õÍº PnUS   

(B) \μUR¢÷uõº PnUS 

(C) Á[Q PnUS    

(D) G¢u PnUQ¾® £ØÖ øÁUP ÷uøÁ°Àø» 
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24. Bank reconciliation statement is prepared by the 

(A) Bank   (B) Business firm  

(C) Creditor   (D) Debitor  

Á[Q CnUP \õßÔøÚ u¯õ›¨£x 

(A) Á[Q   (B) Â¯õ£õμ {ÖÁÚ® 

(C) Phß AÎz÷uõº   (D) PhÚõÎPÒ 

25. Which of the following is an example of fictitious assets? 

(A) Machinery   (B) Stock  

(C) Patent   (D) Preliminary expenses  

RÌUPshÁØÖÒ Gx ¦»¨£hõu ö\õzx. 

(A) C¯¢vμ®   (B) \μUQ¸¨¦ 

(C) E›©®   (D) xÁUP {ø» ö\»ÂÚ® 

26. Petty cash book is maintained to record the 

(A) Petty sales    

(B) Petty sales and expenses  

(C) Petty expenses only   

(D) All cash transactions  

]Ö öμõUP £v÷Ák ¤ßÁ¸® |hÁiUøPPøÍ £vÁuØPõP £μõ©›UP£kQÓx 

(A) ]Ö ÂØ£øÚPÒ    

(B) ]Ö ÂØ£øÚPÒ ©ØÖ® ö\»ÄPÒ 

(C) ]À»øÓ ö\»ÄPÒ ©mk®  

(D) AøÚzx® öμõUP |hÁiUøP   

27. Closing balance of petty cash book is 

(A) An Asset   (B) A Liability  

(C) Income   (D) Expense  

]À»øÓ öμõUP Hmiß •iÂ¸¨¦ 

(A) J¸ ö\õzx   (B) J¸ ö£õÖ¨¦ 

(C) Á¸©õÚ®   (D) ö\»Ä  
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28. The item which will not find in the bank reconciliation statement is 

(A) Cheques received from the customer and deposited into bank but not credited by the 

bank    

(B) Cheques paid to the suppliers but not cashed by them  

(C) Cash discount allowed to the customers    

(D) Interest credit by the bank  

Á[Q CnUP AÔUøP°À Põn¨£hõu CÚ® 

(A) ÁõiUøP¯õÍ›hª¸¢x ö£ØÖ Á[Q°À ö\¾zu¨£mh Põ÷\õø»PÒ Á[Q°À ÁμÄ 

øÁUP¨£hõuøÁ    

(B) ö£õ¸Ï¢÷uõºUS ÁÇ[Q¯ Põ÷\õø»PÒ Põ\õUP¨£hõux 

(C) ÁõiUøP¯õÍ¸US AÝ©vUP¨£mh öμõUP uÒÐ£i    

(D) Á[Q°À ÁμÄ øÁUP¨£mh Ámi 

29. Find the Bank balance as per pass book 

OD as per cash book Rs. 10,000 

Unrealised cheques Rs. 5,000 

Uncashed cheques Rs. 2,000 

(A) Rs. 13,000    

(B) Rs. 13,000 over draft  

(C) Rs. 7,000    

(D) Rs. 7,000 over draft  

Á[Q ö\À÷»miß£i¯õÚ Á[Q C¸¨¤øÚ PnUQkP. 

öμõUP Hmiß£i Á[Q ÷©ÀÁøμ £ØÖ ¹. 10,000 

ÁμÄ øÁUP¨£hõu Põ÷\õø»PÒ ¹. 5,000 

öμõUP ©õUP¨£hõu Põ÷\õø»PÒ ¹. 2,000 

(A) ¹. 13,000    

(B) Á[Q ÷©ÀÁøμ¨£ØÖ ¹. 13,000 

(C) ¹. 7,000    

(D) Á[Q ÷©ÀÁøμ¨£ØÖ ¹. 7,000  



 

   008/DM/18 
  [Turn over 

13 

30. Debit balance as per cash book is 

(A) Over Draft as per pass book  

(B) Credit Balance as per pass book  

(C) Over Draft as per cash book  

(D) All of the above  

öμõUP Hmiß £ØÔÖ¨¦ Gß£x 

(A) ö\À÷»miß£i ÷©ÀÁøμ¨£ØÖ  

(B) ö\À÷»miß£i ÁμÂ¸¨¦ 

(C) öμõUP Hmiß£i ÷©ÀÁøμ £ØÖ  

(D) CøÁ AøÚzx®  

31. Copy of the passbook represents 

(A) The cash column of the cash book maintained by the customer 

(B) The bank column of the cash book maintained by the customer 

(C) Customer ledger in the bank 

(D) None of the above  

ö\À÷»miß |PÀ SÔ¨¤kÁx? 

(A) ÁõiUøP¯õÍº öμõUP Hmiß öμõUP¨£zv  

(B) ÁõiUøP¯õÍº öμõUP Hmiß Á[Q¨£zv 

(C) Á[Q ÷£÷μmi¾ÒÍ ÁõiUøP¯õÍº PnUS    

(D) CøÁ GxÄªÀø» 
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32. For the preparation of reconciliation statement, we have to consider the –––––––––––––

column of the cash book. 

(A) Cash    

(B) Bank  

(C) Discount    

(D) All  

\›UPmk® £mi¯¼øÚ u¯õ›UP öμõUP Hmiß ––––––––––––– £zvø¯ P¸zvÀ öPõÒÍ 

÷Ásk®. 

(A) öμõUP®    

(B) Á[Q 

(C) uÒÐ£i    

(D) AøÚzx® 

33. Rs. 10,000 is debited in an account instead of credit to rectify the error we have to 

(A) Credit the account by Rs. 10,000  

(B) Credit the account by Rs. 20,000  

(C) Debit the account by Rs. 10,000  

(D) Debit the account by Rs. 20,000  

¹. 10,000 J¸ PnUQÀ ÁμÄ øÁUP¨£kÁuØS £v»õP £ØÖøÁUP¨£mhx Cøu \›ö\´¯ 

(A) CUPnUQÀ ¹. 10,000 ÁμÄ øÁUP ÷Ásk®  

(B) CUPnUQÀ ¹. 20,000 ÁμÄ øÁUP ÷Ásk®  

(C) CUPnUQÀ ¹. 10,000 £ØÖ øÁUP ÷Ásk®     

(D) CUPnUQÀ ¹. 20,000 £ØÖ øÁUP ÷Ásk®  



 

   008/DM/18 
  [Turn over 

15 

 

Question 34 to 45 : 

The balances of various ledger account is given 

Mark ‘A’ if the balance appear in the debit side of the trial balance 

Mark ‘B’ if the balance appear in the credit side of the trial balance 

Mark ‘C’ if it will not appear in the trial balance 

Mark ‘D’ if it cannot be judged with the given details 

ÂÚõ Gs 34 •uÀ 45 Áøμ : 

£À÷ÁÖ ÷£÷μmi¼¸¢x C¸¨¦PÒ uμ¨£mkÒÍx 

Cx C¸¨£õ´Âß £ØÖ £UPzvÀ Á¸©õ°ß ‘A’ GÚ SÔUPÄ® 

Cx C¸¨£õ´Âß ÁμÄ £UPzvÀ Á¸©õ°ß ‘B’ GÚ SÔUPÄ® 

Cx C¸¨£õ´Âß G¢u J¸ Chzv¾® Áμõu¼À ‘C’ GÚ SÔUPÄ® 

C¸¨£õ´ÂÀ CuøÚ PoUP C¯»õx GÛÀ ‘D’ GÚ SÔ¨¤hÄ® 

34. Salary Rs. 36,320. 

(A)    (B)   

(C)    (D)   

Fv¯® ¹. 36,320. 

(A)    (B)  

(C)    (D)  

35. Sales Rs. 1,73,500. 

(A)    (B)   

(C)    (D)   

ÂØ£øÚ ¹. 1,73,500. 

(A)    (B)  

(C)    (D) 

36. Purchase Rs. 1,44,670. 

(A)    (B)   

(C)    (D)   

öPõÒ•uÀ ¹. 1,44,670. 

(A)    (B)  

(C)    (D)   
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37. Return Inwards Rs. 4,400 

(A)    (B)   

(C)    (D)   

EÒv¸¨£® ¹. 4,400. 

(A)    (B)  

(C)    (D)  

38. Return outwards Rs. 4,600. 

(A)    (B)   

(C)    (D)   

öÁÎzv¸¨£® ¹. 4,600. 

(A)    (B)  

(C)    (D)  

39. Uncashed cheques Rs.3,435. 

(A)    (B)   

(C)    (D)   

Põ\õUP¨£hõu Põ÷\õø» ¹. 3,435. 

(A)    (B)   

(C)    (D)  

40. Interest received Rs. 475. 

(A)    (B)   

(C)    (D)   

ö£Ó¨£mh Ámi ¹. 475. 

(A)    (B)   

(C)    (D)  
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41. Cash discount Rs. 340. 

(A)    (B)   

(C)    (D)   

öμõUP PÈÄ ¹. 340. 

(A)    (B)   

(C)    (D) 

42. Investment Rs. 6,000. 

(A)    (B)   

(C)    (D)   

•u½kPÒ ¹. 6,000. 

(A)    (B)   

(C)    (D) 

43. Capital Rs. 50,000. 

(A)    (B)   

(C)    (D)   

•uÀ ¹. 50,000. 

(A)    (B)   

(C)    (D) 

44. Opening stock Rs. 20,150. 

(A)    (B)   

(C)    (D)   

xÁUP \μUQ¸¨¦ ¹. 20,150. 

(A)    (B)   

(C)    (D) 

45. Closing stock Rs. 21,460. 

(A)    (B)   

(C)    (D)   

CÖv \μUQ¸¨¦ ¹. 21,460. 

(A)    (B)   

(C)    (D) 
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46. Error causing disagreement of a trial balance 

(A) Partial omission   (B) Complete ommission  

(C) Error of principle  (D) Compensating Error  

C¸¨£õ´Ä Ehß£õk £õv¨£øh¯ Põμn©õÚ ¤øÇ 

(A) £SvÂk ¤øÇ   (B) •ÊÂk ¤øÇ 

(C) Âv¨¤øÇ   (D) DkPmk® ¤øÇ   

47. The error which does not affect the agreement of the trial balance 

(A) Totalling error    

(B) Partial ommission  

(C) Compensating error   

(D) Entry in the wrong side  

C¸¨£õ´Ä Ehß£õmiÀ £õv¨ø£ HØ£kzuõu ¤øÇ 

(A) TmhÀ ¤øÇ    

(B) £SvÂk ¤øÇ 

(C) \›UPmk® ¤øÇ    

(D) uÁÓõÚ £UPzvÀ GkzöuÊx® ¤øÇ  

48. Discount received Rs. 2,735 was entered as Rs. 2,375 in the discount account. To rectify the 

error 

(A) Discount received account to be debited by Rs. 360 

(B) Discount received account to be credited by Rs. 360  

(C) Rs. 360 to be debited in the concerned supplier account    

(D) Rs. 360 to be credited in the concerned supplier account  

uÒÐ£i ö£ØÓx ¹. 2,735 PÈÄPnUQÀ ¹. 2,375 GÚ GÊu¨£mkÒÍx Cøu \› ö\´¯ 

(A) uÒÐ£i ö£ØÓx PnUQÀ ¹. 360 £ØÖ øÁUP¨£h ÷Ásk®    

(B) uÒÐ£i ö£ØÓx PnUQÀ ¹. 360 ÁμÄ øÁUP¨£h ÷Ásk® 

(C) öuõhº¦øh¯ ö£õ¸Ï¢÷uõº PnUQÀ ¹. 360 £ØÖ øÁUP ÷Ásk®    

(D) öuõhº¦øh¯ ö£õ¸Ï¢÷uõº PnUQÀ ¹. 360 ÁμÄ øÁUP ÷Ásk®  
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49. Find the receipt which is not to be classified as capital receipt 

(A) Capital introduced   

(B) Loans  

(C) Sales of fixed assets   

(D) Sale of goods  

•u¼Ú ÁμÁõP P¸vh C¯»õu ÁμÂÚ® 

(A) öuõÈ¼À Ch¨£mh •uÀ  

(B) PhßPÒ 

(C) {ø» ö\õzx ÂØ£øÚ°À ö£ØÓ ÁμÄ  

(D) £sh[PÎß ÂØ£øÚ°À ö£ØÓ ÁμÄ  

50. Example of expenditure which cannot be classified as capital expenditure 

(A) Purchase of land   

(B) Purchase of machinery  

(C) Purchase of fuel for machinery  

(D) Purchase of furniture  

•u¼Ú ö\»ÂÚ® GÚ SÔ¨¤mh C¯»õu ö\»ÂØS Euõμn® 

(A) {»® öPõÒ•uÀ    

(B) C¯¢vμ® öPõÒ•uÀ 

(C) C¯¢vμzvØPõÚ G›ö£õ¸Ò öPõÒ•uÀ  

(D) AøÓP»ß öPõÒ•uÀ  

51. Example of expenditure which cannot be classified as revenue expenditure 

(A) Purchase of goods   

(B) Share of profit paid to the owner  

(C) Salary paid    

(D) Repair charges  

Á¸Áõ°ß ö\»ÂÚö©Ú SÔ¨¤h C¯»õu ö\»ÂØS Euõμn®  

(A) £sh[PÒ öPõÒ•uÀ   

(B) E›ø©¯õÍ¸US £Qº¢x AÎUP¨£mh »õ£® 

(C) Fv¯® ÁÇ[Q¯x    

(D) £Êx £õº¨¦ ö\»ÂÚ® 
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Question no: 52 to 60 : 

Some of the items from the ledger/Trial balance of a town panchayat is given. Find where it 

would be transferred in preparing income and expenditure account and the balance sheet. 

Mark ‘A’ to represent income and expenditure account 

Mark ‘B’ to represent liability side of the balance sheet 

Mark ‘C’ to represent asset side of the balance sheet 

Mark ‘D’ No where in the above 

52 •uÀ 60 Áøμ : 

J¸ ÷£¹μõm]°ß ÷£÷μk ©ØÖ® C¸¨£õ´Â¼¸¢x GkUP¨£mh CÚ[PÒ ]» uμ¨£mkÒÍx. 

CøÁ Á¸Áõ´ ©ØÖ® ö\»ÂÚ PnUS AÀ»x C¸¨¦ {ø» AÔUøP GvÀ Ch® ö£Ö® GÚ 

B´Ä ö\´x 

Á¸Áõ´ ©ØÖ® ö\»ÄPÒ PnUS® Ch® ö£Ö©õ°ß ‘A’ GÚÄ® 

C¸¨¦ {ø» SÔ¨¤ß ö£õÖ¨¦PÎÀ Ch® ö£Ö©õ°ß ‘B’ GÚÄ® 

C¸¨¦ {ø» SÔ¨¤ß ö\õzxPÎÀ Ch® ö£Ö©õ°ß ‘C’ GÚÄ® 

CøÁ Gv¾® Áμõx GÛÀ ‘D’ GÚ SÔ¨¤kP. 

52. Property tax demand raised 

(A)    (B)   

(C)    (D)   

ö\õzx Á› ÷Pm¦ GÊ¨¤¯x 

(A)    (B)   

(C)    (D) 

53. Property tax collected 

(A)    (B)   

(C)    (D)   

ö\õzx Á› Á`¼zux. 

(A)    (B)   

(C)    (D) 
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54. Property tax advance collection 

(A)    (B)   

(C)    (D)   

ö\õzx Á› •ßTmi÷¯ Á`¼zx. 

(A)    (B)   

(C)    (D) 

55. Property tax - Balance to be collected 

(A)    (B)   

(C)    (D)   

ö\õzxÁ› {¾øÁ Á`¼UP ÷Ási¯x. 

(A)    (B)   

(C)    (D) 

56. Prior year income 

(A)    (B)   

(C)    (D)   

Ph¢u BskPÐUPõÚ Á¸Áõ´. 

(A)    (B)   

(C)    (D)   

57. Prior year expenditure. 

(A)    (B)   

(C)    (D)   

Ph¢u BskPÐUPõÚ ö\»ÂÚ®. 

(A)    (B)   

(C)    (D)  
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58. Purchase of street light materials. 

(A)    (B)   

(C)    (D)   

öu¸ÂÍUS E£Pμo[PÎß öPõÒ•uÀ. 

(A)    (B)   

(C)    (D)  

59. Street light materials used during the year. 

(A)    (B)   

(C)    (D)   

|h¨£õsiÀ £¯ß£kzu¨£mh öu¸ÂÍUS E£Pμn[PÒ. 

(A)    (B)   

(C)    (D)  

60. Balance of street light materials in hand. 

(A)    (B)   

(C)    (D)   

öu¸ÂÍUS E£Pμn[PÒ CÖv C¸¨¦. 

(A)    (B)   

(C)    (D)  

––––––––––––––––––– 



 

   008/DM/18 
  [Turn over 

23 

ROUGH WORK
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ROUGH WORK 


